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RECURRENCE SEQUENCES
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XH*L:' x‘-ﬂ.*d

X'er.: :{“ : w-

‘(w-*z.: X *+ xm-l

fﬂ.:'a !lﬁ I.

/

———

Xo, Xodk ..., Xo+(n-Dd, ...
ARTuNETC PROGRESSIOV

h=l
Xe, X°'TJ e xﬂ"ir

GEOMETRIL PROERESSION

0,1,1,2,3, 5,8, Ja,‘,...{‘
FiRonace) NUMBERS

Jll!

COMPOURT INTERELT  THE (NTIAL DEPos(T 8 $loooo

= le coo

S
Sp = 105,

S,.= 628297
S&D= Z\$ oo

AT 4 Bie YIELDING 5[, PER
YEAR WITH INTEREST CoMPOUNDED
ANMVALLY, How MLl wile BE
THE AMOUNTS AFTER N YEARS 7

S, = oo
S.=10%.5,=105 10 000
Sz = .05 -9,:(.0%5)s,

- R - -

Sh-, =" S“_'=@:eg)"$=
Siee™ | 21§ ¢2,6

—|42—
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EXAMPLE, MESSALES 4ARE TRMSMITHED THROUSH
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